Extended writing planning skeleton

Terminal velocity of a skydiver?
















The skydiver leaves the plane





The skydiver is accelerating





The skydiver reaches terminal velocity.











The parachute opens. The sky diver reaches a slower terminal velocity

















You will need to include most/all of the following technical terms:


mass 	weight	 gravity 	resultant force		 acceleration 	9.8m/s2


air resistance 		particles		 collide		 unbalanced forces resultant force 		balanced 		surface area  		deceleration terminal velocity














